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1	Introduction
During the RAN4 #82bis meeting, a WF on co-location requirements was approved [1]. In the WF, proximity-based and virtual connector solutions were captured. There are, however, a number of open issues for each of the solutions.  

In this document, we address the open issues of the proximity-based solution and conclude with our observations and proposals. 
2	Discussion
[bookmark: _MON_1249227490][bookmark: _MON_1282989596][bookmark: _MON_1282992763][bookmark: _MON_1283666811][bookmark: _MON_1290505886][bookmark: _MON_1248002274][bookmark: _MON_1248002336][bookmark: _MON_1290505889][bookmark: _MON_1230619646][bookmark: _MON_1230620479][bookmark: _MON_1230620585][bookmark: _MON_1230620596][bookmark: _MON_1230620632]The proximity-based solution uses the original co-existence scenarios (see Figure 1 [2]) to generate the equivalent OTA scenarios without the need to estimate the antenna beam gain. 
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	Figure 1: The different configurations used during the measurements. d denotes displacement (from [2])

The open issues captured in [1] that need to be addressed for the proximity-based solution are as follows:
1. One antenna is the AAS under test, what is used for the 2nd antenna?
a. A representative BS antenna
b. A calibrated test probe (dipole?)
2. If a test probe is used then what is the coupling factor between the test probe and the AAS under test?
3. What are the worst cases scenarios (at least IV)?
4. What is the min separation (d)?
We address each the aforementioned open issues below (but not following the same order).

2.1 The worst case scenario
Among the scenarios shown in Figure 1, IV is considered to be the closest to practical scenario. Hence, it is selected for the proximity-based solution. On the other hand, V gives the largest isolation but it is a less relevant scenario.Aggressor 
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Figure 2: Scenario IV 
Observation 1: Scenario IV is considered the worst case. 
2.2 Test antennas
In the scenario shown in Figure 2, there is an aggressor (which is the AAS BS under test) and a victim. The victim antennas should be an equivalent non-AAS antenna which has similar element radiation patterns and polarization as the AAS BS antenna under test operating at the same frequency bands.  
Observation 2: the victim antennas should be an equivalent non-AAS antenna which has similar element radiation patterns and polarization as the AAS BS under test operating at the same frequency bands. 
2.3 The minimum separation (d)
In Figure 2, the minimum separation between the AAS BS under test and the victim base station should be 1 m.
Observation 3: d = 1 m.
2.4 Coupling factor between the AAS BS under test and the victim
The minimum coupling factor between the AAS BS under test and the victim base station should be greater than the Friis free-space path loss, i.e., 
		[dB]																			(1)  
where 	c is the speed of light, 
	     	f is the centre of frequency band,
		d is the minimum separation
Observation 4: the minimum coupling factor between the AAS BS under test and the victim base station should satisfy equation (1).

3	Conclusions
In this document, we have addressed the open issues of the proximity-based solutions and can make the following observations and proposals:

Observation 1: Scenario IV is considered the worst case.

Observation 2: the victim antennas should be an equivalent non-AAS antenna which has similar element radiation patterns and polarization as the AAS BS under test operating at the same frequency bands.

Observation 3: d = 1 m.
Observation 4: the minimum coupling factor between the AAS BS under test and the victim base station should satisfy equation (1).

Proposal 1: Scenario IV is considered to be the worst case for the proximity-based solution.

Proposal 2: the minimum coupling factor should be based on the Friis free-space path loss.
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